38.

39.

A liguid at speeitic gravty 0.7 is Aowing through
A venturimeler Baving inlet diameter 15 e and
thioat diameter of & em The hauld differential
mdnomeler shows 3 reading of 21 em Caleulate
the difference of pressune hond

[Specitic gravety of Hig is 116

{A) 285 cm B) 387 em

(0} 435¢m (0] 400 em

Ifa Hud joy discharging from a 30 mm o

IAmeTer
orfice hasa 25 mm tdiameter at it

YENE O Gt
then ils coefiicent of contractian will be

(&)

144 B 078

€] 069 2 115
k:/m Thread accuracy can be checked by

gauge.

(A Ring B} Plug

(€ Both{Aland (B) (D) Vernier heght
\9], Fine grain size wheel s used lor gnnding

1A} Rough (B} Ordinary

€} Un-even

42

43,

\\._/'I

a4/

L) Firushing

To remove the dnll or steeve lrom drill machng
spndle, the too! used is called

(A) Dnll slepype (8] Drill dreft

(€} Centre drll 0} Counter shank

In braning, the meitng point of the filker metal
ranges from 620°C to BOO'C and it is used in
instrument making. The method i

(A} Torch and Dip brazing

(8] Dvpor Induction brazing

1O Siiver brazing

(D) Induction and Toreh brazing

For round hole punch in sheet by machine i
called

(A} Blanking
(B} marking and dividing
0] straghtening
A0 denting and dividing
457 The toals for metal cutting like files etc. are made
S of __ slesl
(A} High carbon
(B) Medum carbon and Low cartion
(C) High carbon and Medium carban
(D) High speed
SET- A

46,

48,

b :.?._"r

5D0.

A plate 100 mm wide and 10 mm thick is welded
to another plate by means of a double paralisl
fillot welt The weldng i3 done a'ong the width of
the plate. The plates are subjected to 3 farce of
75 kN The manirrum strergth of the Jmnt in
tension and shear stress 5 B0 MPa and 60 MPg
fespectively Tre lenon ol the weld without
adding the length for starling and stoppage wall
Epprosimately be
(A} 352 mm

(C] 8B4 mm

®
10)

44 2 mm

* 90.0 mm
The weldng process which  employs  an
exathermal chemical reaction for the purpose of
developing a high tempuerature is

(A) Friction welding

Bl Electro-stag welding

IC} Thermit welding

D] Laser welding

The casting defect which is produced because af
displacement af the sand by the liquid metal at
the wall regions due to hydrostatie pressure s
known as

(&) Mould shift and Scab

{B] Swol

1C) Scaby, Runout and Drop

B} More than one of the ahave

The gperation of miling two sides of a work piece
simultancously s called

(A) Sguare milling

(B} Straddie milling

(€} Gang milling and climb milling

(0} End milling

In a vapour absorption refngeration  system,
heatng, cooling and refrigeraton takes plice at
the temperature of %0°C 15°C 5
respectively. The Maimum COP of the system
woll be

(A} 121
£y 202

ard

(8) 230
0y 277

TP-T ..u.
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51,

In a vapour compression refrigeration system, the
effect of sub coaling the vapour before expansion

by throttling

(A} Decreases the work requirememt by
COMP essor

(BY Increases the work  requirement by
COHTIM s L0r

[C) Decreaves the refrigerating effect

[ Increases the relngerating effect

\3/Cwnmnng Vapour compression refrigeration
systern (WCRS]  with  wapour  absorpuion

53,

\_54.

s
- 55,

SET

refrigeration system (WARS), the Compressor of
the former (VCRS) s replaced with

(A} Anabsorber, 3 generator, a liguid pump and
a pressure reducing valve

A generator, an evaporater, a liquid pump
and an expansian valve

(B}
{C} A generator, a liquid pump, an expansion
valve and a pressure recucing valve

An absortier, an evaporator, a liqud pumg
and an expansion valee

]

/

The copaciy of is
exprossed as

4]
(B
1C)

(1H]]

refrigerating  machine

Insiedi wirluime of cabing

Lowest temperature attained

Gross weht of machine in 103

Hate ot apstraction of heal from the space
peing cooled

The thrattling operation in g relngeration oyele s

carfigd oulan

(A] Evaporator

(8] Discharge valve

(G Cepillary tube

Lo Expansion valve and Discharge valve

i

In Actual practice, for four stroke enqine the

outhet valve gets opon

(A lust before the completion af compression

Stroke

18] Just after the completion of compression
stroke
Just alter the completion of suction stroke
Just bofare the completion of power stroke

o]
([&]

-A 1

Y60,

1 6T.

&/\I’Jhich of the loliowng refrigerant is having
tnghest taxicty and no Rammability?
(A) Freon-12 and Carbon diowde
(B) Amimoma
(€} Sulphur dioxide
(D] More than one of the ahove

(57 Steam turbines work on
(&) Otta cycle
(Bl Daal eydle and Otto oycle
10) Rankine cycle
(0 Mone of the above

/sp./Thn volumelne efficiency of a compressor

(A} Increases with det redass in compression ratio
(B} Docreases with degrease in compression
falio

IC)  Increases with increase in compression fabio
[ Decreass will ncrease in compression ralio
Il the flow of ar through the compresior 15
perpendicular 100 3wis, then nisa

[A)
(B)
ic)

- 1D]

i
/

Reciprotdling Compessor
Centritugal compressor
Turbs comppisson

Axral flow compressos

Which among the following s not a property of

the system?

(A

(R

(Ch

(D)
/'J

Heat transferred during & reversible Isobaric

Pressure and internidl energy
Internal energy

Work

Pressure and thermal conductivity

process 15 poual 1o
A
(8}
1)
0o

Chianne in enthaipy

Change in intarnal enargy

Crange in entropy and internal energy
Wark transter

sz/wn.:n ol the foliowing process 1§ associated with
sl cyefe?
(A
(B)
1C)
1)

Constant volume and Adiabate process
Congtant pressure and Constant volume
Isothermal process

Ktore than one of the abave

[P.T.O.
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Mmth of the following o not the escentig) pert of
a simple carbaretion

(&) Float chamber and spark pilug

{B] Discharge nozele srd Fuel straimer
(€] Ventun lube and Fihenng device
(0} Spark plug

The inmer surtace of a 400 mim thick Linck wall of
a lurmace wkept at TO7°C aned o is feund that the
outer surface femperature = 450 Kohen
Assuming that the conductnaty is 0.7 Wim K,
the heat ioss per square metre of wall area will be:
(A) T25W (B) 975W

[Ty 1050w O s00wW

MH' What misture s to be used for erusing power

rarnge, In a petrol engine reguines?
1A lean munufe

(B) rich midure

(€1 ehwmically correcy

(T none of these

\j/ht critical point the latent heat of vaporzation s

(AY  Maximum of minmum
(B8] Infinty

(€] Dependent on temperature only
it Iero

61 In a Camol cycle, wilh temperature of low

temperature  body  bemg  feed. as  the

tempetature of bugh temperature body 1s allowed

to vary then

(A) Ethcenty o carmotl oycle increases with
INETEAGE i temreEraturg

(By Efficiency of camot oycle increases with
decrease o lemperature

(C) Effinency of carmot cycle may increase or
ferroase wiln increase n temperature

(0 Efficiency of carnat cycle does not depsend
o termperature

EE.//Thp number of valves in a twa stroke petrol

BROINE &
(A} reto (8] four
€Y e (0 ono or three

S5ET- A

T0.

The component of battery Mnition system in
which voltage is increased to much higher value
from Lattery voltage is calied

(A) Conidersar 1B} Igrtson col

C) Dusinbutar 0 DBa'last resistor

The ang'e between the direction of the foflower
metion a5d a nonmal to the pitch curve & callind
(A) Base angle and criical angle

B) Prme angle and cam angle

(€} Pitch arigle or base angle

(Df Presyre ang'e

Possinle mothod of fature of forked end n

Kruckie jami s

&) Failure i tersan only

(B Falure may take place by shear and 1ension
orily

[C3 Faillure may take place by crushing and chear
only

Dy Falure may take place by tension, shear or
Crushinmg

'I;.."' Faint ol contrallesure 4 & paint, &t which

WA bending mement is mimmuam
(B) bending moment changes sign
[C} shear force changes sign

(O} both (A) and (G

H,/ In Bridge construction, which type af layour is

AV

rmore suitable

(&) Product layoul and Process layout
1B) Cormbored layout

€] Foeed postion leyout

ﬁDl Maore than one of the abowe

f

. 74/ Forawnie edge tollower
o

(A Prme crele and Biteh cirtle are same
B Prime crche and Basz circle are same
1T Prime ool o less than Base circle

Prirmie oo e i fireates 1Than Base corcle

r
/
;WJS. Which of the following governoes i sprirg loaced

13

tA) Pickenng Governar and Proesl Governos
(B Walt Governos and Porter Governor

(01 Hatne! gowernor and Watt Governor

D Hartnel governor and P okening Govenos

[P.T.O.
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|

| ﬂm‘/Whm a part s subjected 10 g constant stress at
high tenperature fur a long penod of me, i wi'l
undergn a slow ard permanent deformation (s
called

(&) Faugue or plashcity

B}
ICh
[

Creep
Reasiireg
Toughness or ductdity

77.  Which af 1ne follawing s not the assimption nf

Euler's tneary?

[A) The direct stress is very small compared with
the hending stress correspanding to the
buckling condition
Tie column s innaly steaght and of
wrfer lateral dimansion
The matenal of the columne s pedectly
homogeneous and sotrops
Homo of 1he above

I8

<

{8}

Brake fude 8

(A} |oss of co efficent of fnction
tBY  Ioss of Fyarauhc flud

i€y Loss of pedal

(0} gain of co-ethrient of Incion

J{ Farmatly the dutch s mounted between the!
(A} qear box and propeller shafll

(B engive and gear Lox

() rear anle and ddfferesnal

(0 propelles shalt and roar axla

Tre efficiency of an Otto cycle s 50% and
¥ - 125 The vilue of compressinon rato wll be !

{A] 10 | B
cy 4 (D) Nore of (he above

An alloy has a modulus of Clasticiry of 35 GPa
and modulus of npdity of 25 GPa The value of
Poison's ratio fe) %2
1A 033
Iy 925

8.

(8) 050
(b) 062

in a simply supported beam, il here s 2 uniformby
distributed Ipad berween two points, then the
berding moment between  these Two paints
varies following a
(A rubie 2w
{B) parabofic low
W) heear law
] D] bending mament wi'l not vary at all
SET-A

15

A sample of ar s having 25T Dry Buls
Temprerature {DBT) relatve numidity 5% o
barometne pressure of 760 mm of Hg and
satiraliann pressufe of wapour & 0028 har The

B3.

vapour pressure will he
(&) DDIYE bar {a) 00521 bar
0.028Y bar (0 11320 bar

154./::: efficiency of a Ranking cycle

- (&) increases wilh dagreass in temperanre of
hiral rejechion

i independent of tempesature of heat
rejection and eanaust prossure

(N TEdSES WIth ifi(rease in gxhaus! pressure
ducrasms with increase in lemperalure of

1B

o
(o
freat rejection

" The duples feed purmp for a stearm boiler brongs
to the category of
A1 gear pump
(8] et pump
0} reciprulaling purmp
Hore of the anove

< galerl the wiong stalements:
(Al Iso-octane fuel has an octane rating of 100
(B] The igmifion guality of a petrol engine fuse! 15
eepressad as Cetane number
in spark ignitan engings, knocking Lan be
reauced by retarding the spark advance
Knocking tendency n a Sl enging reduces
with increasing eng ne spied

1

o

Q‘l//wm:h al the following matehal 15 used for the
insulating body of a spark plug?
(&} Silcaard Dolomdge
(B) Glass ard mica
() Sntered dlurmng

(0] Porcelan and Glass
!,.( The pnmary function ol ‘ubncation inoan
hd aulomanile engine is to
(A) Reduce frction between manang pares
8] Remove heat from the cylinder and Beanngs
€} Prowde cushions to the mowirg  paris
against shocks and vibrations
D) Avoid leakane of f:‘urg# by prowding
effectve sealng
[r.T.O.
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5?;;' Ealic] the correct statements

- ia)]  Faraflins m petrol have the general formuyla

CH.

Erfaniol s aften calied the fuel af fujure

(o) oA petml o enging, (ke tentercy  of
detanation increases with Supercharging
Bitumiitonds roal is the best quality of coal
and contans over B5 percant rarbon,

The power developea by a dicsel ergme 1% not
memeased by
(A Higher compressan ratg

(8] Fine atomisation of fue

07 Ewcess supply of air

() Supplying ar at increased pressure

90.

V}:. Far the same compression ratlo and heal ingt,
the cycle in decreasing order of therma! efficiency
Afe
(A1 Doy, dual diesel
1B} DHesel otto, dual
(0} diesel dual, olto
(o Otto, diesel, doal

97. ‘Which of the following statements is ¢corect?
vl (A The murrngm number of nngs i a pston are
lour
(B) automobile pistons are made [rom Steel
forgings
() Incomplete  cambustion  of  fuel s
charactenzed by Exhaust with smoke
{Di Tempersture docs nat reman corstant
during Joule-Thomson expansion
91. Which of the {ollowing processes can approach

revorsibility !

(&) Chemical rearmions

(B Muzirg of different substances

(€] Actien of brakes in stopping a vehicle

D) Controlled of restncted  expansion  of
COMPresson

Expansion of hot gases in an LC. engine can be
approvimated to an
(&1 Adiabatic process

(B] Ismchoric process

(€} |sothermal process of lsobanc process
0} Mone of the above

SET-A 7

In  flat belt drve (be ship between the driver and
bell s 2% and that between the beit and the
follower is 4% 1f the rabn af pulley dameters lor
the diree and folloaer s 1 0 1, then e velodity
ratio of [he drive 15
Ay O8I

(€1 0™

95,

g 077
{0y 058

For a Watl gavernar, 15 tm height cofresporads
te an angular speea of
(A 5.2 rardfue
I 6.5 radfsec

for a hollow shatt of pewternal and |rtemal
diamelors 10 em and 4 ¢m respectvely, Ihe
torsional section modulus will he

(A 219cm’ (B 161emy’

W 191 ot (o) 1B em!

8.1 rad/sec
70 rad/ se

(B)
o)

7.

98, The intarrect PaHession among the following 1s

(A) AG _ =-TAS

.

in sothermal process W __ . =-nR TIHT.,:

Bath (A} and [B)
AG® - - [aH" -us‘j

ic
(&

99. A Carnot  engine  operating  between
temperatures Ty and T has etfiency 170 When
T: is lowerad by B3 K s efficiency ncreases 10
1/4 Then T) and T; are, respectively
(A] (BOKand 535K (8] 34DKand 2975K
(C) 640 K ard 560 K (D) 540K and 4725 K

\1’?,/.&- ppe to carry the water from the reservoir to the
furbime house 15 known as

(B} MNozzls
iy Tal race

(Ay Draf tube
0] Pensiock

101, The representation of An [weniropic process on
T-s dingram is done with the help of

(A} Curved ling (B) Nertical line
(£} Horizontal line [0} Inclired hng

102, Air standard efficiency of s diesel cycle does not
depend upan

(AY  cut off ratn

(B ratir of speohic heats

[C) Adiabatic compression ratio
(0] Hane af the above

[r.T.0.
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m;_A thermmial prveer plant,

S

A

rycle is ysed
(A} Rarkine (B)  Erigseog
(€} Brayton D) Camat

104. & smple Rankine eyclo Produces 17 MW ol

v
L

L

poset, A8 MW of prorass, Fiean aned rejects BO My
of heat 1o the sumoundings, Wit

5 th
izt 5

rsgled by the purmip work?
(A A05% (8
ICh B 1]

»

515%
122w,

105. Rankine cycle elficiency of a good Steam Power

Plant may bein the range of ?

(A1 15-25% (B 60- 70k
) 35-45% D) 75-90%

106. What is the actual wrbine inlet temperatura i

Rankine cyrle?

IA) 4207 (B) 545°C

iy 750°C D) 1asneC
1nr.f/r~:a1cn the following :

Group - A Group - B

1. Fump (&) canslant pressure hegr rejaction

4. Boiler (b) reversible adiabatic expansion

1 EI'B_";
"

of steam
1 Cordenser [0) constant plessure hegt sddition
(cl) reversible adiabalic compression

(&) T=ibi 2-{c) 3=(d)
By 1 () 2 —fch 3 - {a)
1 1-idl 2= {ah 1 -0
(3 Mone of the above

Ranw e cycle comprises of

[A] wo isentropc processes and two constant
Precsure processes

B] two isentropic processes and two constant
WOl UME procosses

(€} two sothermal processes and two constant
Pressure processes

i3] two canstant volume processes and two
CONSLANT Pressure processes

SET- A

109,

o

W

Inthe -5 dhagram of vapour pawer ryrle, what n
the tonditon of steam at the starting of turhine
cxpanson? (a1 pont 2)

e —y

(A) wet with dryress fraction D8
(8] dry saturated

10 superheated

101 None of the above

How o the capacity of vapour power plant
expressed?

{A] interms of steam rate

(B] an terms of wirk nutput

K um teems of hieat rate

D) Mane of the above

| the compression ratio in |C engme (ncreases,
then its tharmal efficiency wll

Al increase

(B] decrease

[C)  ramain samae

(0} mcrease and decroase

-{}1/ Which a! the following s compressed \n desel

engine?

Ay Fuel

1B Airand lubricating ol
(C) Air ard fusl

0y Aur

113, The fuel in diesel engine s normally injected at

pressure of
IA) 90-130 kgfem?
IC} 30-45 kg/omd

{B) B0-80 kg/em?
D MNore of 1he alwove

"I}./A saturation state & a <tate from which a change

of phase may occur

(A) without a change of pressure or temparature
1By with a change of pressure or tlemperature
(O} both &) and (B)

Y none of the abowve

[P.T.O.
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115.

116.

"

which of the followng exsts in a P-Y diagram for
waler!

(Al saturated solid ling

(B)  saturated lguid lines

(C)  saturdted vapour hne

(Dy mare than one of the dbove

Tre equation which forms the basis of the Mollier
dagramis

(A1 Tow = =dh « vidp

(3] Tds = dh+ wdp

{0 Tds= gh-wlp

(B) Wone af the above

Calcutate the deyness fractian ef steam which has
25 kg of waler 1 suspension with 60 kg of steam
(A) 099 ® 096
(€ 053 Dy DES

SET- A

21

. Throtthng calonmeter is a device can use o

measure the guality of
[A] super-heated steam

[8) wet steam

[C] drysteam

(0] none of the e

L‘I}./T ne propemies of water are arranged «n the steam

tables as a furctons of

(&) prossure

(B) pressure and temperature
0] Aemperature

() None of the ahave

& 5
Y28, Saturated liquid or the saturaled vapour has how

matyy independent variables?
(&1 three {8y one
(] two (D) nane of the above

[r.1.O.
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